
 

rms1 :RMS rmd1 :RMD

tc1
:TransportConnection

{SeqHdr:[SeqID=a, MsgNo = 1],
body="mesg1"}

{SeqHdr:[SeqID=a, MsgNo = 2]
body="mesg2"}

{AckHdr:Ranges=(1,2)}

{AckHdr:Ranges=(1.1)}

{SeqHdr:[SeqID=a, MsgNo = 3]
body="mesg3"}

{AckHdr:Ranges=(1,3)}

tc2
:TransportConnection

{SeqHdr:[SeqID=a, MsgNo = 4]
body="mesg4"}

{AckHdr:Ranges=(1,4)}

TransportConnection:= NewTransport

SendSoapRqst(soapHdr,body)

ReceiveSoapRqst(soapHdr,body)

SendSoapResp(soapHdr,body)

ReceiveSoapResp(soapHdr,body)

SendSoapRqst(soapHdr,body)

ReceiveSoapResp()

SendSoapResp(soapHdr,body)

ReceiveSoapResp(soapHdr,body)

SendSoapRqst(soapHdr,body)

ReceiveSoapRqst(soapHdr,body)

SendSoapResp(soapHdr,body)

ReceiveSoapResp(soapHdr,body)

TransportConnection:= NewTransport

SendSoapRqst(soapHdr,body)

ReceiveSoapRqst(soapHdr,body)

SendSoapResp(soapHdr,body)

ReceiveSoapResp(soapHdr,body)

 


